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Instructions:
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Fill in the blanks

logl.log2.log3.log4 =

Attempt ALL questions.
Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
English version is authentic.

If "c, =" c,then n=-----------

If A—1 -2 then adj(A)=
13 6 G

Sin?35+5in%55 = ----=------

The period of sin(2x)= ---------

sin‘lﬂcoszj = e
3

Do as directed

Insert Five Geometric means between 320 and 5

Prove that log [\/xz +1+ x} +log [\/xz +1- x} =0

Do as directed

Prove that

1

1 1 )

Do as directed

+ +
log,, (xyz) log,, (xyz) log, (xyz)
Find the sum 1+3+9+27 +
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Find the sum of the first n terms of the series 9+99+999 +............
Find the fifth term in the expansion of (x— y)16

Do as directed

OR

X

16
3

Find the Middle term in the expansion of (ZXZ +—

Find approximate value of +102 using binomial theorem

Do as directed

2 -11

Find inverseof | _1 o

1 4

1 0 1

If oA=|3 2/and B=| 0

2 5

-1 -2
5 | Find 2A-3B
3 1
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Do as directed

Find unit vector Perpendicularto a=i+ j+k and b=2i—2j+k
If a=(3,-2,1) b=(2,-4,-3) and ¢ =(-1,2,1) then find |2a-3b-5c]

OR
Do as directed

If A:F’ ﬂ find A?_5A+71

Solve 3x+2y=5and 2x—y =1 using Matrix Method

Do as directed

Prove that angle between two vectors i+2j and i+ j+3k is sin™ /:—:

Forces (1,2,3),(-1,2,3)and (-1,2,—-3) act on a particles and the particle
moves from the point (0,1,-2) to (-1,3,2) find work done by the forces

Do as directed

. tan| = +6
sin(z+6) . 2 +cos(27r+0)
sin(2z-0)  cot(z-0) sin(”+9j
2

Prove that : w =tan A.tan B

cot A+cotB

Find the value of :

Do as directed
1+sin260—-cos20 ¢

- =tané@
1+sin26+cos26

Prove that

For any AABC Prove that tan A+tan B +tanC =tan A.tanB.tanC

OR
Do as directed

Prove that : tan i.tan?’—”.tanS—”.tan?—”.tang—” =1
20 20 20

20 20
Prove that: tan™ (&) +sin™ (@j cos™* (%) - %T

Do as directed
sin3A cos3A _ 9
sinA  cosA

Prove that 4sin@cos® 8 —4sin® & cos@ = sin 46
Do as directed
Draw the Graph of y=sinx 0<x<rx

In usual notation for AABC Prove that a=bcosC +ccosB
Do as directed

Prove that

Prove that cos20° cos40° cos60° cos80° = %

For AABC a=4,b=5,c=6 find A,R,r
OR

Do as directed
Draw the Graph of y=cosx 0<x<x
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2 In usual notations for acute angle AABC Prove that _a = _b = _C
sinA sinB sinC

(b) Do as directed
1. Solve AABC : A=30°,B=90" a=8cm.

2.
Prove that tan™ (ljﬂanl L.z
2 3 4

Ql (@ wuell w0 Y.
1 logl.log2.log3.l0og4 = -----------
2 oa. nc5 _n C4 (_n N = mcmmmmmee

o A{l _2} A adj(A)= e
3 6

4 5in?35+5iN%55= -mm-mmmmmm-

5 sin(2x) of AAAHLoL = ---mmemv

6 5.(5x5): ________

.

(0) Yyt Yoot 53
L 320 wal 5 2 uid AHIRNHR Htals dscll

2 w@d sA3 Iog[ﬁ+ x}+|og[ﬁ—x} =0

Q2 (@ sl Yot sA

L wld 52 3 t L, 1 o
log,, (xyz) log,, (xyz) log,, (xyz)
2. 143494274, 2187 oll Rl 83\
0 yastt Yot sA
L & 9+99+999+........... oll YUH n UEL oll Ucllol 0
2,

(x—y)" ol (QzcREL of Uiy ue el
OR
(0) st Yool 5

6
(sz +3iJ oll (ARAR0L Hi HAH UE ROl
X

2. (3ugl yRa ol Heeell V102 of A Yt Aadl.
Q3 (@ sl Yo sA

1 2 11
2 -1 0] oll @t AQs A
1 0 1
2, 1 4 -1 -2
A a=lz 2| UA B=|0 5| &a A 2A-38 AN
2 5 3 1
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Q.3

Q.4

Q.4

Q5

(b)

(@)

(b)

(b)

YAt Yol U

a=i+j+k A b=2i-2j+k o clol AsH Al A
% a=(3-21)b=(2-4,-3) U c=(-121) A [2a-3b-5c| WA

OR
YUt Yo A

o8 A:F ﬂ A A’—5A+71 Q0.

AW oll GuaAL 53 3x+2y =53 2x—y=1 G5

YAt Yol U

2R 142] WA 14743 A2 A yd sinl\/g D A w@d 53
WAl (1,2,3),(-1,2,3) Aol (-1,2,-3) ofl 2Rl s (g (0,1,-2)

(-1,3,2) Yl ¢ad. Al vl wdc st .
YAt Yol U

Bud Qd: SN+ +tan(2+9)+cos(27r+e)
sin(2z—-0)  cot(z—6) Sin(72[+9}

Al 3\ BNA+ERNB A tanB
cot A+cotB

YAt Yol U

w59\ - 1+s!n20—cosze _tang
1+sin 26 +cos 26

S8 URL AABC HIZ2 UUA $ ¥ tan A+tanB+tanC =tan A tan B.tanC

OR
YAt Yo U

AAA 5 :tan -~ .tan S—H.tans—”.tanz.tang—ﬁzl
20 20 20

20 20

U A 83 : tan‘l(a)+sin‘{£j cos‘l(ljzﬁ
2 2 6

YAt Yol U

sin3A _ Cos3A _o

SinA  CcosA

UUAA $: 4sin@cos® @—4sin®Hcosd =sin 40

NRAGEDE

YAt Yol 531
y=sinx 0<x<z oll AW ERL

YA A3l AABC HIE U 5 3 a=bcosC +ccosB
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(b)

YAt Yol U

AA A 83 : cos20° cos40° cos60° cos80° =%
AABC HI2 a=4,b=5,c=6 l AR, r 20t
OR

YUt Yo A

y=cosx 0<x< 7ol AAW ERL.
a

b c

YAUQAA A¥dHl @yslel AABC HIZ U 53 Y
|

YUl Yo A
AABC HlL A=30°,B=90" a=8cm. &l2ldl AABC G3cl
AU d $3 :tan? (Ej +tan™ (lj _r

2 3) 4

*kkkkkkkhkkikkhkkik

“sinB_sinC
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